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SECTION-A
T ol
@l
For each queslion given below four answers are given. Out of four only one

answer is correcl. Select the correct answer. 1x10=10

wetw Zla(h) 2 SIIBICE ©aq 3T s | if4bI< [6@4s s1g «bigz Gad %) &% Cadd! 9z
GfeiGs |

[cvs eifeli 2rsa b1af6 Gea craxl ©licg | bralbw Ncdyr 9lG Gaq o | 9% Gedfs @4 ¢t/
L Fjezog +2Al — Al,04 +2Fe
The above rcaclion is an example ol —
9149 falEars! g4 -
aricga feailv s —
(a) a combinalion rcaction
b1 FAcare RiEaa B

o Fgea! [fdrne S
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(b} a decomposilion reaclion
<5l e fqiwmg Tazad

=5 fArare [igala Swzad

(c) a displacement rcaction
bl Hopiad fdidar Tz

96 o i Cwigad
(d) a double displacement reaction
@Bl fasreiiad e Ewizad

Gt e [ Tuigae

2. A solution turmns red litmus blue.

The pll of the solution is —
51 F4Z 48] F5aTg = el T |
q<fb Ta wTF FHoaE AE FE |
Ao pIl T& —

yafoa pll & —

(a) 1
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) 5

(d) 10
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3. Which of the [ollowing melals rcacls violently with cold water ?

©Ed CRACD! aietd diel 2R Fiefe oas @l R[fear s

fitbd W 4relb Meoa wed F o7 @l [iedm @

(@ Al

(b) Fe

(c) Na

(d) Ca
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4. In the periodic table of the elements, in a period [rom left to right atomic

radius gradually
(= “Rfge SifFeE Ay «@ore adwEm o[ Gl srasie@s aend @
Gl “ifige wiffm offita dfre (e e simmdfe ed ssmE

(a) incrcascs

(b) dccreases

S

(c) remains same
qrhE AN

9T YT
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({d) none of the above
G@oAqq GG %3 |

@oEd G3loe |

5. Two wircs have lengths, resistances, resistivitics —cach in the ratio

1 :2. Whal is Lhe ratio of their diamcicrs ?

HEIE Oled Trdlf, (414, (Q41ss — 2SO CFae Seiod SIF 1 : 2. SR TelAd 4P

E2fe i 242

w6 et wefl, (14, SAMEA @i — eifolbd (FGa SIS T 1: 2.

CId GRS S T2
(@) 1:2
) 1:4
) 4:1
(d 1:42
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6.  Which of the [ollowing is nol a conventional source of cnergy ?
&5 (O] RIS =i e wza?
fimd @l 2nfee «fed B ww?
() TFossil l'u(;ls

A B

I Sl

(b) TBio-Mass
Taed

o4 &4

() Nuclear cnergy
g «fe
fFregh «fe
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() Wind encrgy
4R *ife

qary *ifes
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7. The part of the brain which is responsible for maiﬁlaining cquilibrium

and posturce of the body is
Wfead fa a3 o el W e PR Ace 7, GiR w2
Afeca (1 Bt oiCEd el o) S i g v, e sikd 2 —-
(@) Cercbellum

(blacasma

(A=

(b) Mecdulla

G
j
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{c) Pons
/(5

~

24T

(d) Cecrebrum

B

CHCaETT

8. Which one of the [ollowing is a biodegradable waste ?

were [l GEIRICH Sl Fifs=el Cofsima w12
fFzfeie et S Axsad q6 smi?
(a) TPolythcne bag

ARG Qs

(b) Tccled skin of mango
S qRfE
S Al
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(c) Torn lealher bag
FfE (il b3EE GO

(RST GRRSE 27t

{d) Plaslic boille
20fesq <bs

A @ree

9. Anacrobic fcspiration occurs in —
R
OIS WA A T —
(a) Mitocﬁondria

NG
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(b} Chloroplast
FLUATS

@IS

(c) Nucleus
(FR(EHT

(ST
(d) Cyloplasm

BIRG &S

HAZCHIRNETC

10. The organs having difllerent origin, similar appearance and similar [unction

darc
Tatar s BeAfe oEel [ (RIS O % 0@ IR A4 4, CGIRER O —

P I CeoifE wEm, g (e Oo G338 440eid IR RlE aed, ietE!
el —

(a) 1lomologous -
APRZ

TTAE
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(b) analogous
e

Afe

(¢) adjacent
fFieba€l
frael

(d) vesligeal

GITIIRT

SR

SECTION - B
‘o’ oisl
EEECh

11. Draw the clectron dot struclure of cthane.

YT ST [ 91O il |

(AT BEDGA [ 5 S |
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I2. Name the Sodium compound which is used for sofiecning hard water.,

1

(3 ARSI (7)) T Tt STRee IR F BIGUT GO A F )

WG Y G el w0 AR ERAIeE s WY G|

13. Why in nature do we find more tall pca-plants than dwarf pca-j::lants_?

1

w&ahwﬁmmﬁwmﬁw%%@%@m@

A¢pfers S @ (2 Wrsh it (7w1) o Bf WBaEhHa sitg (71e1) @R (e

)
ML ?

14. Tlow the amount and time of sccretion of hormones arc controlled ?

TR AR S Refe i sy @FEmE Fafde zae

JACACTH #1122 Feoye 2eqm 7w (@4 wewm W) FreiE Fafds =
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15. If three resistances connected in parallel arc in relation R, >R, > R,
then what is the relation between the currents through them ? 1

ATl Aeats A {01 g E W@ R, > R, > R, @, (et Sides wical
Il Rje 2 7= oo

Al WA Y@ fonlb cmam s aff R, > R, > R, 23, wizdE «irid fowa f
ulewl [y 2Mizd ST 0

16. Takc 1g copper powder in a china dish and heat, then— 1x2=2
RIS MASHIEN 92 LTS 1g TN ASWE & o4 I 5E —
b ifoa tofl s ARE 1g T 2tSer Fra sas watE —
(@ Whal will be the colour of the copper powder ?
Al 2feviERAa 9w9 (T A2

@2fid “lfeTEtg 93 S TR ?

(b) Wrile Lthe balanced chemical rcaction for the above obscrvalion.
o e bl TS AT

- @oiEd A aet TERTe AT ECA

4
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Translate the following stalecments into chemical equalions and

balance them. 1x2=2

oo BieeTE TEERE AT 99 fordl S e

fitsd TieerE AR TR e Tl G- TG A |

(@) Iydrogen gas combines with nitrogen 1o form ammonia.
2R (G (5102 ARHCEA (o siore Rfer SR awiE gee )

ZRTGIEH S RCEEH SR ek e sy e = 2|

(b) Zinc carbonale is heated strongly to give Zinc oxide and Carbon

dioxide.

R THGTE eTeI TEd FRET s THRE S T TiF TSRS 2

Eull

fﬁaﬁwﬁwmﬂwﬁwwﬁ@ﬂmwﬁﬂwﬁ@w
3| |
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17. Deline exothermic and endothermice reaction. Give one example of cach

with ¢chemical cqualtion. 141=2

wirafer i wizian?) {dfemma s F | ke AT 7T A0 9bite Suize
| -

weldiere a2 wiees) [iiEar s @l e Sk w3 afele gelb 2@
TV S99 Wi |
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18. Whal will happen il a solution of sodium hydrocarbonate is heated ?

Give (he cqualion of the reaction involved. 1+1=2

W foum ZRYIES vd @ Ted R 6 < 2 KGR amrafe Fed G|

T 23 EleETe qalh wa s T S 7 e [iEina amEfE AR IaE E
Or / «fza1 | 9441

Wrile the balanced chemical cquation for (he preparation ol bleaching

powder. Mention (oo 1scs ol bleaching powder. : 1+1=2

a5 ~Aowe 2iufes 9 [RiEar AeEe s R o) f@fbs ARSwIRE 1o G4RIE
GRll

& IR 44
GifSe ~1Bu aefecs wrafbe R o At AR @ | bR ATeUl:
b TG g =it
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.+ 19. Describe the process of budding in hydra. 2
QIR PE N TGS 9ol 3549 |

IR e 2%l 4efar e |

20. (a) Whal do you mean by accommodation of cye lens ? 1
B4 I eicrem el I e R oo

(BICRF (ST CAAIEG o] 900 ) IR 2

(b) Draw a diagram to show that a beam of white light can pass

without dispersion through two prisms. 1

ft“rwmaff% (T3 T 3901 cmaﬁn@wﬁ@gﬁ‘ﬂmam@r%@mw
A9 (T T[T |

Ba wIF @ e mwaﬁn@&@mﬁmﬁﬁﬁ—mw\a
Sfows TS /i |

21. Slale the two laws of refraction of light. 1+1=2
e @ 7y e

AfevTacem 5@ ¥ (e
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20: Explzrin the underlying principle of an electric gcncrau;r by drawing a

labelled diagram. 2

a5l ofzrs foaw smwe Afes s Mife i 7|
=it Bize brag o Ryfes et I = s @)

23. (a) Stiate the rule which is used to know the direction of induced

currenl in a coil. 1

Tgsl abre SIRNE Rge erige -sifiete sz Faacs Sy @)

qls PEFIS (IEAIS) kB R 2RI e wiare aze e SE 3@

(b) Draw the magnectic ficld lines when current passes through a circular

coil. 1

FERIR Posilk e 2@z i T %53 (R FFFIN LTI SR 1 |

G5 JEPR ST 87 e 2@ BifETS 20w 98 pHFIN e e o 3|

24. (a) An atom has clectronic configuration 2.8.1

GOl GTFR 2RISR ZEREE [P 29 2.8.1
a3l GliA 2[GE 2EEGY [ e 2.8.1

(] What is the atomic number of the clement ?
CTEToR 2R A2 e e
GIIADE 2NFTIAGR[S F0 Fo 2
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(i) To which of the following elements would it be chemically

similar ?

(alomic numbers arc given in the parenthesis)

K(19), Cl(17), Mg(12), Ar(18) 1
OE CTARIA (PRG0S 2R A9 i) wig?

FFR Towe ARmeRs wwnwE fa )

K(19), C1(17), Mg(12), Ar(18)
5% (N=eER @R e R IR AN Sfrz?

(TFR (TOE ~IRANRT FeMeET e TICR)

K(19), Cl(17), Mg(12), Ar(18)

ﬁ‘@ﬂﬁﬁﬁwﬁ%m@www@ﬂﬁml

e eI faSt »rfite srowty wm
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The position of the elements A, B and C in the periodic table arc

shown below

MRE Sifefrre a1 G A, B OI% C3 gM R oee myed (3(z|

*Riiqe wifem wafFe G A, B @32 Cx FASTE M6 (It 2

Group 16 Group 17
b 7o sa 3sf
— A
B C

(@ Staic whether A is a metal or non metal ?
(T A 48 (7 G4y ?

GlIeT A 418 7 9417
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